R? Mg (GeV) ‘ tt Multijet W(—(v) Other Total | Observed
(800, 1000] 47.1+8.6 21.1+32.0 6.1+19 6.0+23 80.2+33.4 75
[1000, 1200[ 152+4.1 47499 19£09 22409 24.0+10.6 24
[0.08, 0.12] [1200, 1600[ 73+4.8 1.4+09 1.3+1.0 14407 114+5.1 10
[1600,2000[ 08+1.2 02+0.2 04+0.5 0.1+0.0 1.5£13 0
[2000, 4000] 08+1.1 0.0+£0.1 04+£0.6 0.1+£0.1 14+£13 0
(800, 1000] 15.5+4.2 25+12 1.1£08 28+1.2 219+438 34
[1000, 1200( 34+18 05+0.3 1.3+0.6 1.24+0.7 6.4+2.0 8
[0.12, 0.16] [1200, 1600[ 28+23 02£0.1 0.6+0.5 0604 41423 3
[1600, 2000( 08+1.2 0.0+0.1 02+03 0.1+0.0 1.1+1.2 0
[2000, 4000] 08+1.1 0.0£0.0 02+04 0.0£0.0 1.0£11 0
[800, 1000] 9.1+58 0.7+0.4 1.8+1.4 24+11 14.0+6.0 16
[1000, 1200[ 25+24 02+0.1 05+0.5 1.5+0.8 47+25 4
[0.16, 0.24] [1200, 1600( 09+1.0 0.1+0.1 1.3+0.9 02+0.2 25+14 2
[1600, 2000( 09+1.6 0.0£0.0 02+0.3 0.0£0.0 1.1+£17 1
[2000, 4000] 09+13 0.0+0.0 02+03 0.0+0.0 1.1+1.3 0
(800, 1000] 74£7.0 0.1£0.1 09+12 21£1.0 104£7.2 8
[1000, 1200( 1.3+1.4 0.0+0.0 09+1.0 0.6+0.3 27+£16 0
[0.24, 0.5[ (1200, 1600[ 08+1.4 0.0+0.0 04+0.6 02£0.2 1.5£15 1
[1600, 2000( 0.8+1.1 0.0+0.0 02+0.2 0.1+0.0 1.0+1.1 0
[2000, 4000] 08+1.2 0.0£0.0 02+0.3 0.0£0.0 1.1£12 0
[800, 1000] 20+£19 0.0+0.0 04+0.6 05+0.3 29+£20 0
[1000, 1200( 09+13 0.0£0.0 02404 0.1+£0.1 1.2+14 1
[0.5,1] [1200, 1600( 09+12 0.0+0.0 02+03 0.1+0.1 1.2+13 0
[1600, 2000( 08£1.1 0.0+£0.0 02+05 0.0+0.0 1.0£1.2 0
[2000, 4000] 0.8+1.0 0.0+0.0 02+0.3 0.0+0.0 1.0+1.0 0




